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Wation,
S TN Y &
il L T W T Pewe i T L Prny
Rrwmy ’
Questio, Noy, N I8 Trt wr vy &)
4 lo 70 ha
Mark ,, we four optio, 8 out g 38 ~-1.38
Our seh‘(‘fed option, On the (R :ﬂ tof twhich only one g cOrreet You haye 1o
f“‘.e - !} “hm}a e e ik P eel. Angwer 4Ny 35 queations IS5 1 = 38
A e
B)  wirh
C ?R"}tm
© D) o § o
Ari] ig cdible in which of the following fruits 2
(A} Mynristica AB)  Litchi
(€} Annona (D) .. All of these
2. SO, Wg¥OT & §uw ¢
(A) e (B) A
C) wgw D) W | i
Indicator of SO, pollution is |
(A)  Algac (B) Lichen
(C)  Fungi (D) Al of these
YIES &1 fior i St € 2 |
(A) T TYAEE! (B) T AyHEE!
(C) e TyHE! (D) (A) &R (B) 3
Honey is made by .
(A)  Male honeybee - (Bl Qucen honeybee
(e Worker honcybee (D) Both (A) and (B)
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. 3 - sttt :jfi"r’-ﬁ i g 2 ?

w & (B)

© (A 3 (B) 3 (D) ity
Which diseasc is found in hen ?

(A)  Cholera B)  Smut
(C)  Both (A) and (B) (D) Ranikhet

mwsmmmmw%mamwg :
@A) T (B) FwElfaeT

A Bacteri

((C: . flc cria | | (B} Lactobacillus
\ s (D)  Yeast

TR 1688 Tt fehqy e &

(A)  HIHT (B) ‘\q'gﬁ 131rs1

C) TEHy D) ¥ 9§ # 7

Agarose is extracted from

(A) Maize (B) Sea weeds

(C) Cycas : (D)  None of these

AT Higer forat weafor famar o7 2 |

(A) ST T ik B) et

(C)  STohig a9 HHTS (D) ¥ @ i 7

Operon model was proposed by

(A)  Watson and Crick . (B)  Nircnberg

ﬁ;) Jacob and Monad (D)  None of them
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10.

1§

vfa g
(A) Wl w)

)  laspa w9

Echidna is

) Connecting link

(C) Extinct link

BRAR:

W T el
(C) e werfy
Dodo is

(A}  Extinct species

(C)  Threatencd species

Frer % R e R e S

Which of the following is a diploid structure ?

(A) AU
=
(A)  Ovum

(C)  Zygote

=1 d @ @ diar st ¥ 2

(A)  TEeErer
(C) vwWmH

Which onc is hydrophytic plant ?

(A) Trapa
(C) Dalbergia

by:BSEBResult.In

(H)

(D)

(H)
(D)

(B)
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(B)
(D)

(B)

(D)

(B)
(D)

(B)

(D)

(B)
(D)

WAyl ¥irg

LRI P

Vestiginl Organ

None of these
YHZUtd qAfA

Endangered species

None of these

YoTITY
0 g

Endosperm
All of these

AT
TR

Opuntia

Acacia



12,

13.

14,

15.

wetelt R a3

(A) g .
i (B vy
(C)  Iemm .
D) =%
Sertoli cells are found in
(A} Testis
©  Ovary (B)  Uterus
. (D) Liver
T (%) = Torgst ) gy 3
(A) 44 + XX
(B) 44 + XY
(€} 46 + xy
N (D) 46 + Xx
Aumbcr of chromosomeg In human being (male) is
{c] 49+ XX (B} 44 + Xy
(C) 46+ XY . (D) 46 + XX
81 3IWARYT forg Ty o AT 7
(A)  3H (B) . uf¥em sme
(C) IW W D) fwr
Rhino sanctuary is located in which state ?
(A)  Assam . (B)  West Bengal
(C) Uttar Pradesh (D)  Bihar
F=1 3 & +17 fawm) @ & awh st = 2 )
(A) T | (B) W
(C) fewifean (D) Fafer
Which of the following is not a viral disease ?
(B)] Influenza;
(A) Mumps
(D) Measles:

(C) Diphtheria
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18.

19.

Famfifaer o1 ¥ aepaet o afiter okt )

(A)  HYHERd e (1) e vy
(D) wEEw g
Which of the following is not included in nnimal husbandry 7

(A) Bee-keeping (B)

(C) TR

Poultry farming
Organic farming

=fifiam ¥ R Wiy T EEes) 9 = ¥ 2

(C)  Fish farming (D)

(A) TR TR B) Fo Fo aAEHA
(€ WHI (D) V& i@
Who among the following is not related with microbiology ?
(A)  Louis Pasteur -~ (B). - J.D. Watson
(C})  Stephan Hales (D)  Robert Koch
TR fHad g Sy 2

(A)  TH-IRCT H B) I-ARTACH
(C) IR-IRET F (D) - T ¥ WIS &l
Anticodons are found in ' '

(A)  m-RNA (B) t-RNA

(C) FRNA

: (D) None of these
et A whraiea fowar -

(A)  GEerar 1 fHam

(C) {A) 3R (B) gL

Mendel proposed
(A) Law of linkage
(C)  Both (A) and (B)

(B)  SAFSiRERaT &1 Fram
D) ¥ ¥ &R &

(B) Law of inheritance

(D}  None of these
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Wmmw%ﬁmﬁﬁaﬁ%mmﬂ??

20:
(A) genfaar @1 Fyn . (B) W@dy HYLET &y F:qu
€ T ) YA 1 D) ¥ FE
Law of segregation is also known as
(A)  Law of dominance (B) Law of independent iag
(C)  Law of purity of gametes (D)  None of these Tll‘uem
21. qﬁ?WEﬁRﬁéEﬁthmiﬂﬁaTﬂaﬂﬁﬁ%
() S (B) ScRaeH
© foem D) R fafayar
Which of the following factors is important in the formation of new species ?
(A)  Competition (B) ' Mutation
(C)  Isolation (D)  Continuous variation
22. IR H g R
(A)  CO, (B) H,
(C) CH, (D) ¥ I ot
Biogas contains
(A) CO, (B) Hj
(C) CH, (D)  All of these
23. wifg-3eR fhg sEen g e ?
@A) TRRA (B) UEHEAEE
(C) A (D) mléflﬁ’l'ﬂ
In which stage does crossing-over take place ?

(B)  Cytokinesis

(A)  Leptotene
(D) Diakinesis

(C)  Pachytene
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dletfleatRe A B s g1 3 ?

(A)  HIV &

."G] ':”l AR 'J‘.[I[ w1
(C) 9l i ’
| 21 a
PCR is used to deteet D) Fup Hl
(A) HIV
(C)  Cholera i(F;l I8,
) Cancer
TAF Ak Fres;
(A) A \
i (B) WM
‘.C) . ~
D) 7™ & o

Every living ¢y of plant ¢

AN give rise 10 the wholc(plant. This property is
known as
(A) Cloni
T’llng (B). - Somaclonal
© Tﬂllpotency (D) Al of these
26. H@W%%Wﬁq@ﬁww% )
@ n _ (B) 2n
(C) 3n

D) (&) #R (C) 3
What is the ploidy level of chromosomes in endosperm of angiospermic plant ?
A} n B) 2n
() 3n (D) both (A) and (C)

27. mﬁﬁ%ﬁwﬁfwmmaﬁ%ﬂaﬁaww%
(A) s SR (B) (T =
©  (a) 3R @) JA D) e Feem

When offspring is formed by single parent, it is called as
(A) Sexual reproduction

(C}  Both (A) and (B)

(B)  Asexual reproduction

(D) Internal fertilization
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28. WY grosh! H UGy Y e de g ¥ 2

(A) 21 (B) 23
(C) 44 : (D) 46
What is the number of chromosomes present in’human gamectes ?
A 21 (B) 23
(C) 44 (D) 46
29. ¥RTAY & wishiafes & grar wimar @
(A)  wrgEifes oo urafas (B) TRHAR T& TeEA
(€ e o e (D) O T gife
Pyrimidines present in RNA are
(A) Cytosine and Thyminc (B) Adcnine and Guanine
(C)  Cytosinc and Uracil (D) © Thymine and Uracil
30. glueT G 2T 1 3uan frgd & T B & o
(A) Tewifaar B) TFfEw
(C) TEEEE D) Ew
Triple antigen vaccine is not used for
(A) Diphtheria (B)  Pertusis
(C)  Typhoid _ (D)  Tetanus
31. f73 4 %9 WeRy 9 %7 € ?
@A) e (B) FERIFARIHE
(C) T SEHEES (D)  EERH
Which of the following is not a greenhouse gas ?
(A) Mcthane ' (B)  Chlorofluorocarbon
&y €0, (D)  Nitrogen
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32.

33.

34.

35.

FE Wy SUF g &
[A] 1‘\ I T AL
q.gw a_’ F("'ﬂl (13) At ir*i'ﬂl:
C ¥ ‘
8% foro D) g & e
l:;nha Natinnal Park ig famous for
B
(C irds (B) ‘Tigers
) Rhinoccros

(D)  Crocodiles

(B) =, T HR HE

S A P S (D) =, N SR

Which of the following is the correct food chain ?

(A) Grass, Wheat and Mango (B} Goat, Cow and Grass

(C) Grass, Goat ang Lion (D] Grass, Pish and Gost
N . |

W AR TR m A g R « S
(C) ?@mﬂ?ﬁaﬁ+q—ﬁ@?{

D) T V¥ ®E TR
Nuclebside is
(A} Sugar + a nitrogenous base -(B)  Sugar + Phosphate
(C)  Nitrogenous base + Phosphate (D) None of these
e fmtor =) oea &
&) AR (B) WRRISEATEY
(€ wWREAEE

D) ¥ | w7
The process of formation of gametes is calléd

(A)  Gametogenesis i (B)  Cytokinesis
(C)  Sporogenesis '

(D) None of these
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36.

37.

38.

39.

I vy &

(A THIfReTe (B)
C
(€ S (D)

Restriction enzymes are

(A) Exonuclease (B
(C) Ligase {D:
TS ST & Gl 5o 9 oy 3
(A)  TRT =Y |

(B)

€ uRfefast by 7 D)

In National Park, Protection is provided t;:

A
| (A) Flora (B)
(C)  Ecosystem (D)
Teciaeh Seaeehen frat e & ?
(A) IURH (B)
(C) HiEER (D)
Secondary productivity is related
(A)  Producers (B)
(C) Carnivores : | (D)
URERTESRA § T R &
(A)  HEA Y H - (B)
() fwgt ot e At 70°C W (D)

Pastcurization is heating of
(B)

(D)

(A)  milk only
(C) any liquid at 70°C

.

Endonucleasg
P OI}' Mmerasge

I3 &Y
(A) 3R (B) T

Fauna
Both (A) and (B)

SRR
H | S &

Herbivores

None of these

ferdt ot /et # 100°C F FW
T Q &S T8

any liquid above 100°C

none of these
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qrmitafa R 2

(A UEF-wy

(B) tgeaiin
© Ty ()  =g-zitn
The wall of polien grain is
(A) Sit.lglc layered (B}  Double layered
(C)  Triple layered (D) Multi-layered
TRz sew @ S
A fEgey B) w7
(© wwnw O) Fa @

T—lymphocytc originates from
(A)

Bone marrow (B) Stomach

(€} Thymus (D) Liver
EcoRI USRY &1 &g &
(A) Bam H1 (B) E.coli

© (A 3R (B)

(D) Hind111
Source of EcoRI enzyme is

(A) Bam H1 -

/(]é] E.coli
(C) Both (A) and (B)

(D) Hindl1l
et 3 ¥ 99 R e ¥ daem #C ors S7e 2
(a) FSeHis

(B) TGS
(C) Wew hilvwh! D) T Fw
Which one forms endosperm after fusion with male gamete ?
(A) QOospores (B) Antipodals
(C)  Syncrgids (D)  Secondary nucleus
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A

46.

e of et gt ol g b uvie W) e R Ry LA CET :
?

@ uldtag M) wvfigen

() aculneda (IR CLE RS

One gene pair hides the effect of another Rene pair, Thin plmtmm '
onon h
(A) Wpintasiy (13) Dominance

C Mutat
<) tation (D) None of theye

i
!

SR ARG Nk W W d s A s STy mﬁi
Sy ¥, SR W EER ¥ o)

@ (3) I WA

€ wEwee (D)  WHITH WO

A sequence of three bases on tRNA which binds to mRNA codon is
(A)  Triplet (B}  Non-sense codon

(C) Anticodon (D)  Termination codon: '

gt st S s wreefan Qe s &, w0

() e B S
() ﬁ-qrul (D) itilil !

The group of Wucherén’a bancrofti which causes filaria in human being is

(A) Protozoa (B) Bacteria

(C) Virus (D) Helminth
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' A st
_'_47' R YR W shr it s il d b 2
(A} Fwg

(B)  Whd
€ T -
Whicl .
'ch orgun of the body is most affected by excessive intake of alcohol 7
(A] L‘ungs

(B) Liver
(€)  Spleen %

: (D) Stomach
48. TS & Frm w1 ww sy 3

(&) it B T H I

(C) WeeT=e (D) @I IR

An exeeption of Mendel's law is

(A)  Dominance (3) Parity of gamete

(C)  Linkage (D)~ Indcpendent assortment

49. 9 ° @ #1199 duia w2

(A) SRS (B) %'\ﬁ'[

() Hear | o) fowied

Which of the following is a sexually transmitied discasc (-
(A)  Typhoid (B) Cholera
(C) Malaria (D) Syphilis

50. W ¥ S wiewed dd E 2

(A) g | B) AN
© (@I BIA (D)  @Tfgern
Which of the following is/arc inscctivorous plant(s) ?
(A) Drosera (B) Nepenthes
(C) Both (A) and (B) (D)  Hydrilla
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5l.

Fist 0 @ a anafcod yop 2 7

Ay ph '
| (1) #Hiy

(©) (A) 3 ) Sl D) Fy

RE|
Out of the following which one i8 he
(A) Hen

(C) Both (A) and (B)

rmaphrodite Organism -
(B)  Snake
@_}/ Earthworm

52.  FIRem f @y i ,

(A) Ve ;

(B) e
€)  wWeitan "
(D)  Uhed IR WZ

Chlorella is a type of

(A} Algae

©) . (B) Bacteria

Proto:
: ipiogg (D)  Single cell protein

53. RS TR 1 g e @ e # 2

(A)  hUTH ' B ™

(C) HH (D) v

'Cry-genc' prevents which crop from bollworm ?

y Cotton -_ (B) Tea

(C)  Mango (D) Wheat
54, FEAITTUd FH-TGAIGE ?

(A)  TSAH 3R FEeE (B) WRM 3R U

©) TAR 3R TEHA (D) T ¥ &ig T

Purine bases of DNA are

(A) Adenine and Cytosine (B)  Cytosine and Thymine

(C)  Adcnine and Guanine (D}  None of these
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S AR ?

Ay Ay gy
©) Ay 3t ) %

Cancer is caused by
(A) Bacteria
(€)  Both (A) and (B)
5. Y T v ¥

(A)  FATTE TS

€) (A) R (B) A

(B)  H=EAE gy,
Dy %8 A @it o

(B) Oncogenes
(D) None of these

(B) TS WA

(D) T 4 BB 5H

Which one of the following is possible in micropropagation ?

(A} Ascxual reproduction
(C)  Both (A) and (B)

57. FEe OF TSl i E 2

(A) T H

[

) W~E&H.

Menstrual cycle occurs in
&) Human

{C}  Chimpanzee

on

3. Rew oA mmemi )
A} T Y

©) AR B) I T
Binary fission occurs in
i.ﬂ Amoeba

i Both {A) and (B)

(B). © "Sexual reproduction

(D)  None of these

B ST
D) Wi
tB] Monkey

(D) All of these

B) RWIfRET §
D) T A 8 |

(B) Paramecium
(D) None of these
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- - e CoroTd T BT 7
59. qum}qlﬁf.glgmquﬁqﬁgmm =

60.

61.

62.

(Al 64 @ 90

(© 85 . By

In a DNA molccule, the cytosine is 18%., then the pereentage of ey
(A 64 B 30

€8s D) 32

TSI ieqon Frerat gt & fer foen Tl € 2

(A) et (B) CTARIIE

C) uw (D) FW

Widal test is. done to confirm

(A)  Malaria (B) “ Typhoid

(C) AIDS (D)~ Cancer

HIV 1 7 fopq sifvrer qu-emmssmor &edl & 2

(A) BT (B)  T-FIEI

() gdifaferaet sifren (D) T-BCWR HIRTHI
HIV attacks on which of the following cells ?

(A) B-cell (B) T-cell

/’ F-
(C) Epithelial cell (J_)) T-helper cell

U R ek wf wfeRen smfihar gl €, 3% wed &
(A) TEH B)
(C) uveErEl D) Tem

The substances to which an immune response is produced, are called

(A) Allergens (B) Vaccines

(C) Antibodies (D)  Antigens
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3.

4.

65.

66.

ST B A ) R s e 3 ?

Qﬁ?ﬁ%%ﬁﬁﬁ:}aﬁwnmi
A) feRerfiy

() e
(C ;
N (B) =) ) R @
Chemieal releageq duc 1o allergy ig
A 1§13 s
i(;; HIStdmlnc (B) Serotonin
Both (A) ang (B) D) None of these
IS 1 e TR
A) - g 5 Hectsop (B) I ® weRmter
C) = TevE D) SN w1 FHavw
What doeg OPeron mode} represent ?
(A)  Gene Synthesis (B). "Gene expression
(9, Gene regulation '

(D) Gene function
1 % 9 gy T @Sy y
W wdE

® I
(C) =i D) Ty
Thalamus is edible part in which of the following ?
(A)  Annona - : B} Apple
(©) Orange

(D) All of these

(&) 2rumE) B) YR

©)  (A) 3R (B) I D) T A =i W/
DNA is genetic material of |

A)  TMV ; }B} Bacteriophage
(C)  Both (A) and (B)

(D) None of these
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7. RRefes « o
T H) amery sjger o et w1 A ¢

W Uiy w e
© ey o e @
Flow of ; :
(A energy in food chain of an ccosystcm 18 oo

) Unidircctiunu] (B) Bidircction®
(C; Mu“idimclinna] (DJ’ NoncC of these

68. ﬁqﬁ@ﬁqwﬁlﬁm@qqﬁ%?

(A) 31??2’}6?357 .
Q) sier (D) FeArReiedq

Which of the following is not a biofertilizer ? g o
Bacillus thurningiensis

(A)  Azotobacter (B)
(C)  Azolla (D)  Clostridium
69. & T = Wshrvr ee: eaeh g Al € 7

(A)  STeT B) &
(C) @i (D) T
Tuberculosis is transmitted by
(A)  Water (B). Air

(D) Contact

(C) Insect

S Rugex arpepe RRfa & @ fmi #ar ¢ 2
B

o) T

70.
(A) 3K

(C) Hr&AH
Bio-reactors in optimal conditions produce
(B)  Organism

(A) Product
(D)  All of these

() Medium
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WYE - W / SECTION - B

Y ITNT U¥T / Bhort Answer TYDPe Questions
7 WS 1 # 20 7Y Iy §
praeet &

W€51i0'1 Nos. 1 to 20 are Short Answe

f&ﬂ’?:omﬁ&m&rm*mzn

10 x 2 = 29

r T e. A SLe 25 '.J gl )

vgritc the functions of blood.

. el A o g s v

10 72 =132

/What is global warming ? Explain its effects,

What is test-tube baby ?
s, TRty i % aRefe sEEper @ v
Describe the ecological adaptation of xerophytic plants.
5. ~H&Y o AR, & 9o ®iY |
_Describe transcription in brief.
6. s (ﬁhﬁﬁ)mﬁmhawﬁﬁﬁaﬁl
/Exp-l'ain Biopiracy in brict‘._ |
7. _HEW i gwer & ol @ o

’(im reasons for success of Mendel.
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g, g ai wfimamio @) qfyvaftet WL

}

0.  DNA wfrefa & fey sumya® o L forrd T TETE % ‘

fefore @ w1 wvly &

Define Coupling and Repulsion.

on and mention
Name any (wo enzymes requircd for DNA replication and MEZTET One ‘N

function of cach of them.

10, qaAvEdT ¢ ?wﬁﬁrmmﬁ%w%wmﬂw%?

What is micropropagation ? What are the main advantages of producing pia *

through this technique ?

. SRt ¥ qeaRomEl T av X

Describe the ill effects of alcohol.
1 s FfRET W YT e |
Comment on Innate immunity.
13, HoTHodlo T THRT STt |
Throw light on G.M.O.

14, WW%WWWWWWmms

Draw a neat and well labelled diagram of transverse section of human ovary.

5. 5 A R ? ~

Wmcding ?

16, aeETHEE fAUEH W JeRTH S

e

Throw light on Klincfelter's san
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17. LR R G e ——

&ﬁ -':I:“'ﬁ. 1

Draw a nea —
t lab i
clled diagram of a typical untihnd;f 2
Lomr

18. Aa-fafavan gewie @ ¥ ) ORd H UU WE a
: AR R = Fiznd 5 -
e YT 9 )
What is biodiversity h ite d 2
ty hotspot ? Write down the names and spe
speciglifies of
: 0

such hotspots of India.
9. Sifiag T 7 9 SR B AW A T I I & A F A0

What is Amoebiasis ? Name its causal organism and describe the symptoms of

this discase.
20. ot w2 T el AT v 2
What arc allergies ? Describe its symptoms in brief.

<te IW0d W9H / Long Answer Typ;e Questions
m#zﬂrz:#zsﬁémﬁﬂmé J&#snﬁ*m%rnﬁaﬁﬁt
sai‘di'ﬁﬂﬁﬁéfawwﬁﬁ'ﬂﬂmowafﬁﬁmﬁw 3x5=1

1 1o 26 are Long Answer Type Questions. Answer any 3 questions. Eac

Question Nos. 2
3x5=1

question carries 5 marks. Give your answer in about 120 words.

). e Gadd WU ey ferd |
Write an cssay on tissue culture.
22. @ﬂﬁﬁﬁﬁﬂaﬁ%ﬁaﬁraﬁﬁm

cscribe fertilization In flowering plants.

|
l 119]G Page 23 of 24
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Desey %%'ﬂ!ﬁﬂﬂaﬂ"aﬁ'
24, mtu‘“binm“ DNA technology 9 priel. &
Dcacn-:jm % o wikfeufe frfret @ aﬂhmpws. Yy,
<3, i e tcological pyramids with guitablc €X8 "
T it g e e ol ) e
2 S Yarious methods of contraception for th° populaUT‘
6. o

fdere 9 & &dfea @ :f aaerd,
Beee YU, U85 U4, e
®I3, ZiAE e &1, _
Tfelep1e SraRae 3@ saafe aad
g UTet & fReE...
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